#E 398 : &3 (Pole) & &7 St chitfg & K 3E(4)

EHH T e bl P B (Pole) &R bt 2 ffa 258 U7 S e Bk
W %g.ligﬁpq o

fol-

1 .
X2 fi & & o
X" —IX

A

00

-

™~

Z =X - f:" =X

Bl- FlAF#T G R Tht o - a2 Rit55 00 gmz=X

d 2w and g el - AT AR BT B 2ok T gh eniZ L ESV & G z=Xx+iy 0 2
* xfE z2 R (RealPartofz) > yf£i z2 m#% (Imaginary Partofz) - ¥4 -k T
Phi P Hdh 2R Tl F - BELZ EINIHL 00 kz=X+iy=x+i(0)=x o F B

G -

Ho oA Sk f(z)= zzl—iz z=0%z=i=% 5% £ g(Singular Point ) 4§ = #5%




Re z

Bl- FREZIEZAFERT ol T 3L F

FETECERT 2 R A A -0 D tooifE A > P z=05F BB RGP T fETE
Z=OF T @R @B 136 4oz (Q)f Rz 0)5r

Im z Im z

] x

0
—e\JA€

Bz (a) Fsss = iG-S B e F=(b) Migshe - CEiES R

W gAcBle ()F e (b)2 #H P RARH A >

Ble (@) C.rEsse > N3+ R & Rle () Cruigsses> 3EHRg
2=0 % F A 2=0 (At A




d Bl () » .,HI%\,;%/,}?% L

dz +1lim 1

dz (2a
—iz e-04 7% —iz (28)

dz +1lim 5 —dz+1im 21 dz +1lim 1

09 72 _jz £>0 J 72 _jz £>09 72 _jz
—0 C. it &

dz (2b)

FNRa)Eb)¢ iz Tog g A7 Tiggge 54 o Ty 27 Tasge 4 5° 74(2a)

.t , ¢
——dz 2 lim|—5——dz > § e >0pF > Hfe L AR f34e

—&
21 5(2b) ¢ 5 Ama AL
2250 (2b) ¢ » 475 1k lim —dz s lim [~
&

&0 7
—00

lim (2 dz + lim 1_dz:_[ 1_dz

2 _: 2

iz e>04 72 _jz 2
&

gao_wz A V2

T B EF Blw Q)P 2 fE A BT R

PTG 5 (4a) 2 5 (4D) 2 3 47 4 A




1

2 -
-1

B j

Crif

dz enfz 47

1

7" -1z

5 (da) 2 5t (4b) ¢ 7 A 5
Crit

L 1
dz =lim .
i R—)oo.[(Re'g)z_i(Rew)

0

d(Re'?)

_ i T 1 T
—lim[——d#

o i0
Roxd Re™ —I

I.
z
1
|




m o § L gz emiags

FEY B @A SN FIHFHABEN T - Ei&2E (SimplePole) z=i » &

: S R TR . p(z,)
Foilr HieE2 2t E SNk H A E ¢ (2)dz — 2 ) g
x %F‘ ci () q’(zo)
f(z): p(z)/Q(Z) 0 B p(ZO);tO o ANV ar

j; f(z)dz = 27 Res

Cu

7% —iz
= 2zilim————

z—i (Z _IZ)V
= 27 lim———

z—>i 27 —|

1
2(1) —i
1

1

=24

FHEP B O LA RAHPREARILN G 5 RiERZ=127=0 &
51% 7 @ €32 (Residue Theorem ) » & Rt FRAF A LA E - © rz=1272=03%

HEFARIL, 2 EEg o &7 51y HiRg H 0 o5 §f(z)dz:2m.p(20) :

Ci q'(zo)
(2)=p(@)/a(2) » = plz)#0 o fhoepe o 7 v

j;f(z)dz = 271 Res——

Cu A




m Rt lim [
-0 72 =1z
C, i

dz & lim

C, *FlseH &gt z=02 L[> d 25 H

: 1
dz =-7Res———=—i
=0 7° —iz

=

. 1
——0dz = 7iRes t |

7 7b
a2 iz =0 7% —iz  (z2°-iz) (7b)

200)—i

z=0

1295 55(5) ~ 34 (62) ~ 54 (6b) ~ 3% (72) & 5 (7h) » 3 (4a)= 5% (4b)#77r A 3E2 2w+ f ) o
d 3 (4a)dr

Tzzl dz:§§ 21 dz—J' 21
e e

1 1 1
_'[OZZ—iZdZ: j; zz—ide_CL 7% —iz

Ci

=0-0-(-7n)

=7

7 (82)% 4 (8b) A4 W14 Wl w ()€ Wlw (D) *TE Bk A B S I A 6971 8 % > o
LE A A A AR B R - koo 0 R fRTiEAR




